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1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: Covid-19 is caused by:
te o J19—55:’/!J@‘
a) bacteria E/:*;J; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour I

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: Which of the following parts of a plant cell, traps energy from the Sun for making food?
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(a) Mitochondria E/,‘L‘/}’L (b) Nucleus ufiig,: (c) Chloroplast yj_&u,g (d) Vacuole d,;/:/,
Question No.2: Identity tissue from the following.
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(a) Heart Js (b) Blood s (c) Liver /5 (d) Stomach A
Question No.3: Which of the following organelle is NOT found in the animal cell?
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(a) Cell wall Jis (b) Nucleus J;:g ¥ (c) Vacuoles J W5 (d) Centrioles Ay

.

Question No.4: The cavity of the nose is known as:
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(a) nasal cavity Y Kbﬂ (b) hammer /:’Z (c) nostrils -z (d) anvil J}{J



Question No.5:

(a) iris

Question No.6:

(a) Water
(c) Chlorophyll

Question No.7:

(a) 15 — 25°C
(c) 35 — 45°C

Question No.8:

(a) Oxygen will increase in quantity
(b) Carbon dioxide will decrease in quantity
(c) Plants will get more food

(d) Plants will die gradually

Question No.9:

(a) Bacteria

Question No.10:

(a) Water

Question No.11:

(a) purification

Question No.12:

(a) Carbon dioxide

(c) Tincture of iodine

Question No.13:

(a) Pond

Question No.14 :

(a) Water
(b) Nitrogen
(c) Oxygen

(d) Hydrogen

The coloured part of the eye beneath the corneais called:
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(d) lense .

(c) retina L;}«“/
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JA (b) pupil S
Which of the following is a product of photosynthesis?
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d& (b) Carbon dioxide jjm é]j 0913
J.;,/}K (d) Oxygen S T

Plants normally grow well at temperature:
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iS85 s 15-25 (b) 25 — 35°C iS5 8 25-35
1S 8 B35-45 (d) 20 — 30°C 1S 6 50-30

What will be the effect on earth if the process of photosynthesis is stopped? .
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Which one of the following microorganisms provides important compounds to the plants?
fe t’/ﬂl} c«l,-(/ (U /u»{f JNAEL U}ui'l/ 0/4; e J;} YV 29/} Jis
L 2E (b) Fungi o u%' (d) Mushroom 2 -
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(c) Algae
Identify an example of the biotic component from the following.
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AL (b) Sand s 2

L /;g (d) Light ey
The hair and mucus in our nose helpsin___ of air.
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Which compound is used to manufacture caustic soda?
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(b) Plaster of paris

(c) Bacteria

(c) sublimation N (d) distilation

Uz STl
,’gl/}g ﬁ)”f

(d) Sodium chloride

Which of the following is the world's largest mixture?
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(d) River [

?Ub (c) Sea J IS

Identify the structure of molecule in the given below image.
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(b) Canal /
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Question No.15:
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Question No.16:

(a) Oxygen
(c) Ammonia

Question No.17:

(a) Solute + Solution—Solvent
(b) Solvent + Solution—Solute
(c) Solvent + Solute —Solution

(d) Solvent + Solvent —Solution

Question No.18:

Question No.19:

(a) Wind

Question No.20:

(@) O
(b) B
(c) A
(d)D

Question No.21:

(a) Decreases potential enrgy as height decreases
(b) Increases sound energy as height decreases
(c) Decreases kinetic energy as height decreases

(d) Increases heat energy as height decreases

Identify the object which is NOT an energy converter.
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Which one of the following dissolved gases is used by aquatic plants to make food?
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(b) Nitrogen
(d) Carbon dioxide
Identify the correct composition.
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Which of the following is made up of alloy?
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Which one of the following is a source of non-renewable energy?
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(b) Water (c) Light (d) Petrol

At which point of the given pendulum potential energy is zero?
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What happened when a brick fell down from some height?
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Question No.22: Which simple machine is used to raise the flag to the top of the flagpole?
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(a) Wheel and axle J»’gu’ﬁ Jf, (b) Wedge b
(c) Pulley J (d) Lever 3
Question No.23: Identify the example of wheel and axle from the following.
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Question No.24 : Which one of the following is used by crane to lift the heavy load?
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(a) Pulley J; (b) Screw ,J} (c) Gear [ (d) Lever /).J.

Question No.25: According to laws of reflection, the anglg ofincidenceis _________ to/than the angle of reflection. .
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(a) greater |4 (b) smaller [5’,@7 (c) equal AV (d) opposite JL{
Question No.26: In which mirror the size of object and image are equal?
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(a) Plane mirror AU (b) Concave mirror s/ {C‘/
(c) Convex mirror e J.‘Z/,f (d) Back view mirror s/ ?).’ ,_g
Question No.27: According to the law of reflection the angle of incidence is equal to: .
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(a) reflected ray &J j&.gk’ J (b) refracted ray e ﬁtg / J
(c) point of incidence ‘.f’&'j‘.:’” _JT hb,j]z (d) angle of reflection L.Pgbj _JT Jé’..[
Question No.28: Which of the following mirrors is used on blind corners of roads and mountains?
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(a) Plane mirror YAUA (b) Curved mirror s/ 6,/
(c) Concave mirror e }:ﬁ/ (d) Convex mirror e Jg,'/
Question No.29: Which of the following instrument has the most sound energy?
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(a) Flute d/L (b) Piano ,J“L: (c) Drum J,Wj (d) Guitar J@f
Question No.30: The tail of the comet is in which direction?
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(a) Towards the Sun _;) J@A/ (b) Opposite to the Sun u;f s 2 J@/y
(c) Towards the Earth J/ Juﬁ/ (d) Opposite to the Earth u: e 2 Juﬁj
Question No.31: Ahmad is visiting Lahore first time. With the help of which technology he will find his way around a new city?
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(a) Global Projecting System (}’/ G, 4 S £ (b) Global Processing System (””/ B 4 S £
(c) Global Polar System (”—/ Jy S £ (d) Global Positioning System (”—/ G s J ¥
Question No.32: A large ball of ice and dust revolving around the Sun is called:
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(a) asteroid j’{|ﬁ| (b) satellite S (c) orbit <] (d) comet _1»/»{
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